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The Rajasthan Pre-Teacher Education Test (PTET) is conducted by the Jai Narain Vyas Vishwavidyalaya, Jodhpur.
For further information, the candidates can refer to the following table:

Rajasthan PTET Mock 2023 Overview

Exam Name Rajasthan Pre-Teacher Education Test (PTET)
Course Offered 2-Year B.Ed.
4-Year Integrated BA.B.Ed/B.Sc.B.Ed
Exam Mode Conventional (pen and paper)
Exam Duration Three hours
Language Bilingual (English and Hindi)

Rajasthan PTET New Exam Pattern

The candidates will find the Rajasthan PTET exam 2023 pattern in detail. The Rajasthan PTET question paper will
have 200 questions, each carrying 3 marks. The candidates will get 3 hours to attempt the question paper in offline
mode. Refer to the table below, for further information.

Rajasthan PTET Exam Pattern 2023

Duration Three Hours

Type of Question

MCQ (Multiple Choice Question)

Number of Question

200 Question

Total Number of Marks

600 marks

Marking Scheme

(+3) for every right answer

There will be no negative marking

Rajasthan PTET Mock Marks Distribution
The marks distribution of the Rajasthan PTET exam 2023 has been given below. The Rajasthan PTET question paper
2023 will have 4 sections and each will carry 50 marks.

Rajasthan PTET Mock Marks Distribution
Section Marks/Questions
Section A: Mental ability 50 Marks
Section B: Teaching Attitude and Aptitude Test 50 Marks
Section C: General Awareness 50 Marks
Section D: Language Proficiency (English or Hindi) 50 Marks
Total Marks 200 Marks
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Q1. Find the odd one out.
(a) 80:63
(b)93:75
(c) 84:48
(d)66:39

Q2. If the letters in PRABA are coded as 27595, and
THILAK are coded as 368451, how can BHARATHI be
coded?

(a) 34536689

(b) 57686535

(c) 96575368

(d) 96855368

Q3. If rain is water, water is road, road is cloud, cloud
is sky, sky is sea and sea is path, where do airplanes
fly?

(a) rain

(b) Path

(c) Sea

(d) cloud

Q4. If ‘tee see pee’ means ‘Drink Fruit Juice’: ‘see kee
lee’ means ‘Juice is sweet’ and ‘lee ree mee’ means ‘He
is intelligent’ , which word in that language means
‘Sweet

(a) see

(b) kee

(c) lee

(d) pee

Q5. Aman started walking positioning his back
towards the sun. After sometime, he turned left, then
turned right and then towards the left again. In which
direction is he going now?

(a) North or south

(b) East or west

(c) North or west

(d) South or west

Q6. A paper is folded and cut as shown below. How
will it appear when unfolded?

Q7. The sequence of folding a piece of paper(fig X and
Y )the manner in which folded paper has been cut .
how will the paper appear when unfolded?
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Q8. Select the option in which the given figure is
embedded.

Rotation not allowed

(a)
N

(b)

(d)

Q9. Which number will replace the question mark (?)
in following series?

12, 25,49, 99, ...... ?

(a)198

(b)200

(c)197

(d)199

Q10. Which number will replace the question mark (?)
in following series?

1,4,9,16, 25,36,49, (...)

(a)81

(b)92

(c)64

(d)e8

Q11. Three of the following four number-pairs are
alike in a certain way and one is different. Find the odd
one out.

(a)7:23

(b)8:26

(c)10:30

(d)9:29

Q12. In a code language, RIVER is written a ERVRI
how will TRAIN be written as in that language?

(a) RATIN

(b) INATR

(c) RAINI

(d) RTANI

Q13. Three of following four words are alike in a
certain way and one is different. Find odd one out.

(a) Carpenter

(b) Cobbler

(c) Tailor

(d) Teacher

Q14. Select the option that is related to the third term.
In the same way the second term related to first.
AZYB : CXWD :: BYWD :?

(a) DWUF

(b) DUWF

(c) AYBE

(d) AYWE

Q15. Selection the option in which the given figure is
embedded.

N

7z

(b)
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Q16. Ram is related to ‘SITA’ in the same ways as
ABHIMANYU is related to ?

(a) PARIKSHIT

(b) SUBHADRA

(c) UTTARA

(d) URVI

Q17. Which two signs should be interchanged to make
two given equation correct.
4x8+16-4+6-3+2=32

(a) xand +

(b) —and +

(c)-and =

(d) +and =

Q18. Three of the following four numbers pairs are
alike in a certain way and one is different. Find the odd
one out.

(a)4:65

(b)5:126

(c)8:65

(d)3:28

Q19. Two statements are given followed by three
conclusions numbered I, II and IIl. Assuming the
statements to be true, even they seem to be at variance
with commonly known facts decided which of the
conclusions logically follow from statement.
Statements:

Some cats are dogs

All dogs are Deer.

Conclusions:

Some Deer are Cats.

All Deer are Cats

No Deer is dog.

(a) only conclusion I follow.

(b) only conclusion III follow.

(c) only conclusion I and III follow.

(d) only conclusion II and II follow

Q20. How many triangles are there in the following
figure.

(a) 18
(b) 19
(c) 20
(d) more then 20

Q21. Select the number-pair in which the two
numbers are related in the same way as are the two
numbers of the following number-pair.

729:23::7?

(@) 343:9

(b)125:6

(c)512:11

(d)216:8

Q22. Divide Rs. 18249 among A, B, C in such a way that
A’s share is double the share of B and thrice the share
of C. Find the share of C?

(a) 3318

(b) 4206

(c) 1659

(d) 4191

Q23. Which two signs should be interchanged in the
following equate to make it correct?
12-8+12x9+3=9

(@) +and -

(b) —and +

(c) +and +

(d) + and x

Q24. Select the word pair in which the two words are
related in the same way as are the two words in the
following word-

Pascal : Pressure :: ?

(a) Watt : Power

(b) Radian : Degree

(c) Train : Engine

(d) Kilogram : Pound

Q25. Select the option that is related to the third
letter-cluster in the some way as the second letter-
cluster is related to the first letter cluster.

CEGI : AGEK :: DFHJ: ?

(a) BDJK

(b) CGIK

(c) BHFL

(d) CHFI

Q26.Complete the number series

111,121,142 1622
9 2 7 3

(@) 9
(b) 8;

(c) 20
(d) 10
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Q27. Three of the following four words are alike in a
certain way and one is different. Pick the odd word
out.

(a) Othello

(b) Oliver Twist

(c) King Leas

(d) Macbeth

Q28. Arrange the following words in a logical and
meaningful order.

1. Table

2.Tree

3. Wood

4. Seed

Q29. Select the Venn diagram that best illustrates the
relationship between the following case.
City, State, Country

(a)

O

(b)

(L)

(c)

@

(d)

Q30. Three of the following four number-pairs are
alike in certain way and one is different. Find the odd
one out.

(a) 792 :364

(b) 631:203

(c) 623:231

(d)923:816

Q31. Three of the following four words are alike in a
certain way and one is different. Find the odd one out.
(a) Turtle

(b) Bitch

(c) Lamb

(d) Colt

Q32. Which letter will replace the question mark (?)
in the following series?

D,F,G1L],?

(@M

(b) K

(L

(AN

Q33. Below are given statements followed by some
conclusions. You have to take the given statements to
be true even if they seem to be at variance with
commonly known facts and then decide which of the
given conclusions logically follow (s) from the given
statements.

Statements

[ some apples are Mangoes
I1 all mangoes are grapes.
Conclusion

[ some apples are grapes

II some apples are not grapes

(a) Only conclusion I follows
(b) Both the conclusion follows
() Only conclusion II follows
(d) Neither I nor II follows

Q34.If HUT = 94 and RUSH = 66, then FUN=____
(a) 14
(b) 36
(c) 24
(d) 27

Q35. Three of the following four number-pairs are
alike in a certain way and one is different. Find the odd
one out.

(@)3:18

(b)7:70

(c)4:24

(d)9:108

Q36. Two positions of the same dice are given. which
number will be at the top if ‘6’ is at the bottom?
1 2

6 |3 1 |5

(a1
(b) 2
(c)5
(d)3
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Q37. Which number will replace the question mark (?)
in the following series?

3,10,29,7,263,790

(a)91

(b) 89

(c) 87

(d) 88

Q38. Which number will replace the question mark(?)
in the following series?

2,3,45,7,9,12

(@) 5,5

(b) 5

(c) 6.5

(d)7

Q39. In a code language, ROCKSTAR is written as
KCSTORAR. How will HARDLUCK be written in that
languages?

(a) DRLUAHCK

(b) DRUHLCAK

(c) DRULHACK

(d) DRULHCKA

Q140. Select the correct mirror image of given. Figure
DN )

—~
~

0

Q41.If ‘dear’is coded as 1234, ‘head’ is coded as 2345,
‘tear’ is coded as 1346, ‘help’ is coded as 4758, then
What can be the possible code for the word ‘their’?
(a) 95413

(b) 95312

(c) 54961

(d) 65391

Q42. Saumya is standing facing north. She walks 10
km straight, turns left and walks another 10 km and
turns right and walks 5 km and finally turns left and
walks 15 km, to reach a park. Which direction is she
facing now?

(a) East

(b) West

(c) North

(d) South

Q43. Which one-set of letters when sequentially
placed at the gaps in the given letter series shall
complete it?

_cb__cab_baca_cba_ab

(a) cabcb

(b) abccb

(c) bacbc

(d) bcaba

Q44. Rahul and Robin are brothers. Pramod is Robin’s
father. Sheela is Pramod’s sister. Prema is Pramod’s
niece. Shubha is Sheela’s granddaughter. How is Rahul
related to Shubha?

(a) Brother

(b) Cousin

(c) Uncle

(d) Nephew

Direction (45-47) in each of the following
questions find out the alternative which will
replace the question mark.

Q45. CUP : LIPS :: BIRD
(a) BUSS

(b) GRASS

(c) FOREST

(d) BEAK

Q46. Peacock : India :: Brown Bear:?
(a) Australia

(b) America

(c) Russia

(d) Canada

Q47.TEA: VGC:: BUS: 2
(a) CVT

(b) DWT

(c) DWU

(d) CWT
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Q48. In the given figure, how many people study only
2 subjects?

electrical— ’A +—mechanical
4&?&

t
civil
(a) 24
(b) 23
()12
(d) 40

Q49.In the following question, correct the equation by
interchanging two signs.

6x12+3+5=26

(@) =and +

(b) xand =

(c) +and x

(d) xand +

Q50. Three positions of a cube are shown below.
What will come opposite to face containing ‘3’?

~ A 4
4

2

3 5 |2

3

(a) 2
(b) 5
(c) 4
(d)6

Q51. What is the importance of leadership in a school
setting?

(a) It helps maintain discipline

(b) It improves academic performance

(c) Itis optional

(d) It does not affect the school environment

Q52. How can students contribute to their own
learning in a classroom setting?

(a) By actively participating in discussions and
activities

(b) By completing assignments on time

(c) By asking questions and seeking clarification

(d) All of the above

Q53. Which of the following is not a way to promote
social maturity in teachers?

(a) Providing training and professional development
opportunities

(b) Encouraging collaboration and teamwork among
teachers

(c) Punishing teachers for student misbehavior

(d) Providing opportunities for self-reflection and
feedback

Q54. Which of the following is an example of
professional commitment in teaching?

(a) Focusing only on delivering the curriculum
without considering students' interests

(b) Ignoring students' questions and concerns outside
of class hours

(c) Using a variety of teaching methods to
accommodate different learning styles

(d) Refusing to attend professional development
opportunities

Q55. Which of the following best describes
interpersonal relations in teaching?

(a) The teacher's ability to control students' behavior
(b) The teacher's ability to maintain discipline in the
classroom

(c) The teacher's ability to establish positive
relationships with students and colleagues

(d) The teacher's ability to provide academic support
to struggling students

Q56. How can students improve their grades in
school?

(a) Cheating on exams

(b) Paying someone to do your assignments

(c) Skipping classes to have more free time

(d) Studying consistently and seeking help when
needed

Q57. How can a teacher communicate effectively with
parents?

(a) Ignoring parent concerns and focusing solely on
academic content

(b) Blaming parents for their child's behavior or
performance

(c) Offering regular updates and finding ways to
address parent concerns

(d) Refusing to communicate with parents altogether

Q58. How can a teacher promote intrinsic motivation
in students?

(a) Offering extrinsic rewards for good performance
(b) Creating a supportive and engaging learning
environment

(c) Ignoring student motivation altogether

(d) Criticizing students for their lack of motivation

Q59. How can an ideal teacher provide effective
feedback to students?

(a) Criticizing student work without offering
suggestions for improvement

(b) Focusing solely on positive feedback to avoid
discouraging students

(c) Offering specific feedback on areas for
improvement and providing guidance on how to
improve

(d) Ignoring student work altogether
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Q60. What is the role of teachers in the development
of moral values among students?

(a) To teach students to cheat

(b) To provide guidance and support

(c) To encourage violence

(d) To discourage honesty

Q61. Which of the following is not a factor that affects
moral development?

(a) Family values

(b) Peer pressure

(c) Cultural norms

(d) Physical appearance

Q62. Which of the following is a barrier to effective
communication in school?

(a) Active listening

(b) Cultural differences

(c) Clarity of message

(d) Understanding of subject matter

Q63. What is an important consideration when
selecting instructional materials for a lesson plan?

(a) Cost

(b) Popularity

(c) Relevance to learning objectives

(d) Availability at local stores

Q64. What is an effective way to organize learning
activities in a lesson plan?

(a) Randomly selecting activities

(b) Grouping activities by their length

(c) Sequencing activities logically and purposefully
(d) Allowing students to choose their own activities

Q65. What is the role of a principal in student
assessment?

(a) Creating assessment tools

(b) Grading student work

(c) Providing feedback to students and teachers

(d) Developing assessment policies

Q66. How can a child's aggressive behavior be
reformed?

(a) By isolating them

(b) By investigating the reasons for the behavior

(c) By using severe punishment

(d) By ignoring the behavior

Q67. As the Principal of the school, what is the
appropriate action to take if a teacher does not arrive
on time for a school function?

(a) Schedule a meeting with the teacher after the
function

(b) File a complaint with the school management
committee

(c) Publicly reprimand the teacher for their tardiness

(d) Remind the teacher of their responsibilities

Q68. As a school administrator, what is the most
effective attitude to adopt in order to prevent social
evils from impacting the school environment?

(a) Optimistic

(b) Pessimistic

() Similar to other teachers

(d) Indifferent

Q69. What is the potential positive outcome of
informing students about their exam performance
soon after the exam has ended?

(a) Humiliating them

(b) Punishing them

(c) Tempting them

(d) Strengthening their inspiration

Q70. What is the responsibility of a class teacher
towards maintaining discipline in the classroom?

(a) Ignoring any disruptive behavior to avoid conflicts
(b) Creating a supportive and inclusive classroom
environment

(c) Encouraging students to act out to vent their
frustrations

(d) Punishing students for any behavior that disrupts
the learning environment

Q71. What do you understand by ‘promote the child’s
mental development?

(a) Interaction, stimulation and play

(b) Interaction within the community, at health clinics,
at school

(c) Providing emotional security, socialization,
nurturing and giving affection to the child

(d) Keeping the child safe and free from harm,
providing shelter and clothing, preventing and
attending to illness

Q72. How do specific objectives help the teacher?

(a) They are an end-view of the possible achievement
(b) They give direction to the entire educational
system

(c) They help in the selection of the subject matter and
also teaching-learning activities

(d) They help to go beyond the school programme
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Q73. How does technology help a teacher in
improving teaching?

(a) Communicating with parents

(b) Using TLM in lessons

(c) Maintaining student records

(d) AV recording and reflecting on teaching

Q74. What is the role of leading teachers?

(a) Improvement of management and supervision

(b) Improvement of school

(c) Improvement of technology

(d) Improvement of skills, knowledge and
performance

Q75. Schools must take frequent help from which of
the following groups for the academic progress of
students?

(a) Parents

(b) Students

(c) Commercial groups

(d) Society

Q76. Children will learn only in an atmosphere where
They feel they are valued

They are given maximum homework

They are provided with extra work in the classroom
They can participate in school programs

Q77. Which of the following is not the purpose of
teaching?

Acquire, retain and be able to use knowledge
Understand ,analyse ,synthesise and evaluate skills
Develop attitudes

Maintaining discipline in the class

Q78. The best way to teach a concept to students is to
produced from-

Difficult to simple

Known to unknown

Unknown to known

Abstract to Concrete

Q79. The most potent reason for student indiscipline
in schools is-

Absenteeism of teachers

Absenteeism of students

Non-Completion of course

Non-involvement of students in activities

Q80. What is the most appropriate attitude for a
teacher to exhibit when a student is consistently
disruptive in class?

(a) Punitive and authoritative

(b) Empathetic and understanding

(c) Indifferent and distant

(d) Humorous and lighthearted

Q81. What leadership style is characterized by a
leader who is highly focused on achieving goals and
rewards team members for meeting objectives?

(a) Autocratic

(b) Laissez-faire

(c) Democratic

(d) Transactional

Q82. What type of communication is best used for
addressing issues related to school policies or
procedures with staff members?

(a) Verbal Communication

(b) Written Communication

(c) Nonverbal Communication

(d) Visual Communication

Q83. What is interpersonal relations in teaching?

(a) The ability of a teacher to control students'
behavior

(b) The teacher's ability to establish positive
relationships with students and colleagues

(c) The teacher's ability to provide detailed feedback
to students

(d) The teacher's ability to maintain high academic
standards

Q84. How can a teacher improve interpersonal
relations with colleagues?

(a) By competing with colleagues for recognition and
rewards

(b) By avoiding collaboration and teamwork

(c) By respecting colleagues’ opinions and
perspectives

(d) By criticizing colleagues in front of others

Q85. Why is awareness important in teaching?

(a) It helps teachers understand their students' needs
(b) It makes teachers more intelligent

(c) It allows teachers to avoid making mistakes

(d) It is not important in teaching

Q86. What is communication?

(a) The ability to convey information clearly and
effectively

(b) Knowing how to teach a specific subject

(c) Being able to speak multiple languages

(d) Having a high level of intelligence

Q87. Choose the correct statement(s) about cultural
competence:

(a) Cultural competence involves understanding and
respecting cultural differences.

(b) Cultural competence is only important for people
who work with diverse populations.

(c) Cultural competence involves being aware of one's
own cultural biases and assumptions.

(d) Both A and C are correct.
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Q88. What is the primary goal of a school's
professional development program?

(a) To maintain teacher certification

(b) To develop teacher skills and knowledge

(c) To monitor teacher performance

(d) To promote teacher collaboration

Q89. Which of the following is not a role of a student
in a school environment?

(a) Participating in extracurricular activities

(b) Collaborating with teachers and peers

(c) Disrupting classes and causing distractions

(d) Taking responsibility for their own learning

Q90. Which of the following is a key characteristic ofa
transformational leader?

(a) Focus on maintaining the status quo

(b) Lack of vision and direction

(c) Inspiring and motivating team members

(d) Relying heavily on rules and policies

Q91. What type of communication is best used for
providing instructions or directions to students?

(a) Visual Communication

(b) Written Communication

(c) Nonverbal Communication

(d) Verbal Communication

Q92. What type of awareness is required to promote
gender equality in schools?

(a) Emotional Awareness

(b) Social Awareness

(c) Physical Awareness

(d) Intellectual Awareness

Q93. How can a teacher promote self-discipline
among students?

(a) Enforcing strict rules and regulations

(b) Ignoring student behavior and focusing solely on
academic content

(c) Encouraging self-reflection and setting achievable
goals

(d) Criticizing students for their lack of self-discipline

Q94. How can a teacher help students who lack
motivation?

(a) Criticizing students for their lack of motivation

(b) Offering extrinsic rewards for good performance
(c) Providing support and finding ways to address the
underlying issues

(d) Ignoring student motivation altogether

Q95. What is the most important quality of an ideal
teacher?

(a) Knowledge and expertise in their subject matter
(b) Good communication skills

(c) Patience and empathy

(d) A positive and supportive attitude

Q96. How can an ideal teacher engage all students in
the learning process?

(a) Focusing solely on academic content and ignoring
student interests

(b) Offering extrinsic rewards for good performance
(c¢) Encouraging student participation and offering
opportunities for active learning

(d) Criticizing students who do not engage in the
learning process

Q97. How should a teacher handle a student who is
disruptive in class?

(a) Ignoring the disruptive behavior and focusing
solely on teaching

(b) Punishing the student for their behavior

() Providing support and finding ways to address the
underlying issues

(d) Criticizing the student for their behavior

Q98. How can a teacher handle a student who is
consistently absent or late to class?

(a) Providing support and finding ways to address
issues

(b) Ignoring the student's absences or lateness

(c) Criticizing the student for their behavior

(d) Offering extrinsic rewards for good attendance

Q99. What is the role of professional development in
promoting professional commitment at the school
level?

(a) It is not important

(b) It helps teachers earn more money

() It provides opportunities for continuous learning
and growth

(d) It allows teachers to take time off from work

Q100. What is the role of schools in promoting social
justice and equity?

(a) Ignoring social justice and equity issues and
focusing solely on academic content

(b) Providing support and resources for marginalized
students

(c) Encouraging discrimination and bias

(d) Criticizing marginalized students for their
background or experiences
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Q101. Which was the first place in Rajasthan where
the revolt of 1857 began?

(a) Nasirabad

(b) Kota

(c) Dewali

(d) Kherwala

Q102. Who was the founder of Kota Kingdom?
(a) Rao Pratap Singh

(b) Raj Singh

(c) Jagmal Singh

(d) Madho Singh

Q103. Which of the following is the first drama of
Rajasthan that was written by Shiv

Chandra Bhartiya?

(a) Nai Benanee

(b) Phatka Jangal

(c) Kesarvilas

(d) Jaipur ki Jyonar

Q104.Who among the following is the recipient of the
Sahitya Akademi Award 2020 (in

Rajasthani language) for his work Sanskriti ri
Sanatana Deeth?

(a) Ramswaroop Kisan

(b) Bhanwar Singh Samaur

(c) Rajesh Kumar Vyas

(d) Aaidan Singh Bhati

Q105. Which of the following writer is famous as
‘Raniji’ in Rajasthan?

(a) Meera Bai

(b) Bhoori Bai

(c) Lakshmi Kumari Chundawat

(d) None of the above

Q106. With reference to the sandy dry plains found in
Rajasthan, consider the following

statements:

1- 40% of the total population of Rajasthan resides in
this plain.

2- The minimum rainfall in this region is 25 cm.
Identify the true statements from the following

(a) Only one

(b) Only two

(c) both are correct

(d) neither of them is correct

Q107. According to the map released by the Bureau of
Indian Standards, Rajasthan does not

come under which of the following earthquake zones-
(a) First

(b) Second

(c) third

(d)1Iv

Q108. With reference to the eastern plains of
Rajasthan, consider the following statements:

1- 23% of the total area of Rajasthan comes under this
plain.

2- The eastern plain of Rajasthan is sub-divided into 3
regions

3- The extension of this eastern plain is in Bundi,
Ajmer and Jaipur districts of Rajasthan.

Which of the following statements is true?

(a) Only one

(b) one and two

(c) one, two and three

(d)2and 3

Q109. Who was the author of Mutinies in Rajpootana?
(a) G.S. Trevor

(b) L.T. Prichard

(c) L.P. Tessitori

(d) None of the above

Q110. Which of the following Rajasthan writer’s pen
name is Bijji?

(a) Vijaydan Detha

(b) Narayan Singh Bhati

(¢) Kripa Ram Barath

(d) Laxmi Kumari Chundawat

Q111. For which tribal groups and classes 200 days of
MNREGA employment has been announced in the
budget 2022-23?

(a) Sahariya tribe

(b) Kathodi tribe

(c) Minas tribe

(d) Botha &b.

Q112. Which provision is included in the recently
implemented Public Examination Recruitment
Measures for Prevention of Unfair Means Bill 2022, in
which the guilty will be punished?

(a) Imprisonment of 3 to 10 years

(b) debarred from examination for 2 years

(c) fine up to Rs.10 lakh to Rs.10 crore.

(d) All of the above

Q113. The time of campaign has been extended with
the village/cities being run in the state.

(a) December 31, 2022

(b) July 31, 2022

(c) March 31, 2022

(d) none
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Q114. Who is the present chairman of Rajasthan
Public Service Commission?

(a) Bhupendra Singh

(b) D.P. Saxena

(c) Sanjay Kumar Shrotriya

(d) Deepak Sharma

Q115. Which rajsevak of the state has been given the
E governance Rajasthan Award in

February 20227

(a) Dr. Mukesh Solanki

(b) Dr. Om Prakash

(c) Ramdayal Sharma

(d) Vinay Mohan

Q116. Who has become the second woman chief
secretary of the state?

(a) Usha Sharma.

(b) Savita Sharma

(c) Archana Sharma

(d) Mamta Singh

Q117. Who is the current chairman of Rajasthan State
Commission for Women?

(a) Rehana Riyaz Chishti

(b) Krishna Poonia

(c) Mamta Sharma

(d) Archana Sharma

Q118. The present President of Rajasthan State Sports
Council is-

(a) Krishna Poonia

(b) Avni Lekhara

(c) Urmila Yogi

(d) Alka Rani

Q119. Which folk artist was presented with Dr. Komal
Kothari Memorial Life Time

Achievement Award?

(a) Vijay Verma

(b) Ashok Dahiya

(c) Vijay Shankar Sharma

(d) Shanti Swaroop

Q120. Which is the first state in the country in the
generation of renewable energy?

(a) Madhya Pradesh

(b) Gujarat

(c) Rajasthan

(d) Uttar Pradesh

Q121. The deepest lake of the world is
(a) Aral Sea

(b) Caspian Sea

(c) Baikal

(d) Dead Sea

Q122.Gaza strip lies along the coast of
(a) Dead sea

(b) Mediterranean sea

(c) Persian sea

(d) Red sea

Q123. The term Doab means -

(a) aland between two mountains
(b) aland between two lakes

(c) aland between two rivers

(d) aland between two seas

Q124. The ‘Pacific Ring of Fire’ is associated with
(a) oil well fires

(b) thermal power station

() volcanoes and earthquakes

(d) forest fires

Q125. Bhakra Nangal Project is constructed across
which river?

(a) Ganga

(b) Sutlej

(c) Cauvery

(d) Brahmaputra

Q126.Which of the following is not an objective of
World Bank?

(a) To provide guarantee on private loans

(b) To develop production facilities in
underdeveloped countries

(c) To rehabilitate war ruined economies

(d) None of the above

Q127. When full amount is due on any call but it is not
received, then the short fall is debited

to?

(a) Calls-in-advance

(b) Calls-in-arrear

(c) Share Capital

(d) Suspense Account

Q128. If we deduct grants to states for the creation of
capital assets from revenue deficit, we

arrive at?

(a) Primary deficit

(b) Net fiscal deficit

(c) Budgetary deficit

(d) Effective revenue deficit
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Q129.The balance of payments of a country is a
systematic record of?

(a) All import and export transactions of a country
during a given period of time, normally

a year

(b) Goods exported from a country during a year

(c) Economic transaction between the government of
one country to another

(d) Capital movements from one country to another

Q130.Why are the intermediate goods not included in
the National Income while measuring

National Income?

(a) To avoid double accounting

(b) It decreases income

(c) Intermediate goods are not good

(d) All of these

Q131.Panchayati Raj institutions came into existence
under

(a)42nd and 43rd Amendment Acts

(b)86th and 87th Amendment Acts

(c)63rd and 64th Amendment Acts

(d)73rd and 74th Amendment Acts

Q132.Which of the following are established under
article 2637

1) Central Council of Local Government.

2) Regional Council for Sales Tax.

3) Inter-State Council.

4) Central Council of Health.

(a)Only 1, 3,4

(b) Only 2,3

(c) Only 3

(d) All of the above

Q133. During the President Rule in a state of India, the
President cannot assume the powers

of ?

(a) The Governor of that state

(b) The bureaucrats of that state

(c) The High Court of that state

(d) The Council of Ministers of that state

Q134. The Speaker of Lok Sabha is elected by __.

(a) the people directly

(b) all the members of Lok Sabha

(c) all the members of Parliament

(d) the members of the majority party in the Lok
Sabha

Q135. Which one of the following article deals with
the appointment of the Prime Minister

and other ministers?

(a) Article 72

(b) Article 75

(c) Article 76

(d) Article 74

Q136. Which ruler of Vijayanagar allowed the
Portuguese to build a church in his empire?

(a) Venkat I

(b) Achyut Rai

(c) Thirumal

(d) Krishna Deva Rai

Q137. The Defense Minister of which of the following
countries visited Jodhpur and

Jaisalmer on April 2021 as a part of his visit to India?
(a) Turkmenistan

(b) Kazakhstan

(c) Kyrgyzstan

(d) Uzbekistan

Q138. Identify the true statements from the following
regarding Isarda-Dausa water

project-

1- This project was announced in the state budget for
the year 2019

2-This project will be set up to provide drinking water
in the cities of Udaipur and

Pratapgarh.

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) None

Q139. Who among the following has been appointed
as the Chairman of the Sixth

Finance Commission of Rajasthan State-

(a) Lakshman Singh

(b) Banna Lal

(c) Pradyuman Singh

(d) Ashok Lahoti

Q140. Which of the following ladies wrote an
historical account during the Mughal period?

(a) Gulbadan Begum

(b) Jahanara

(c) Roshanara

(d) Asmat Begum
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Q141. [timad-ud-Daula’s tomb at Agra was built by
(a) Akbar

(b) Jahangir

(c) Shahjahan

(d) Nur Jahan

Q142. In which language were the Buddhist literary
works generally written?

(a) Prakrit

(b) Pali

(c) Nepalese

(d) Sanskrit

Q143. Who amongst the following is known as the
Light of Asia?

(a) Jesus Christ

(b) Lord Buddha

(c) Prophet Mohammad

(d) Zarathustra

Q144. Who attend the Congress of Oppressed
Nationalist at Brussels in 1927, on behalf of the
National Congress?

(a) Dr Ansari

(b) Mahatma Gandhi

(c) Jawahar Lal Nehru

(d) Moti Lal Nehru

Q145. The date March 12, 1930 is known in Indian
History for—

(a) Dandi March by Mahatma Gandhi

(b) First Round Table Conference

(c) Gandhi - Irwin Pact

(d) Jallianwala Bagh Massacre

Q146. The Ghadar Movement was founded by —
(a) Ajit Singh

(b) Lala Hansraj

(c) Lala Hardayal

(d) Bhagat singh

Q147. Who is the author of the new book titled
“Leaders, Politicians, Citizens”?

(a) Ramesh Thamilmani

(b) Rasheed Kidwai

(c) Ramesh Kandula

(d) Amitava Kumar

Q148. World Press Freedom Day is observed globally
on every year.

(a) 1st May

(b) 2nd May

(c) 3rd May

(d) 4th May

Q149. Which state’s Chief Minister has inaugurated
India’s first ethanol plant, set up by

Eastern India Biofuels Private Limited at a cost of Rs
105 crores?

(a) Haryana

(b) Bihar

(c) Rajasthan

(d) Assam

Q150. 37-member Indian athletics team for the
upcoming Commonwealth Games will be led

by?

(a) Neeraj Chopra

(b) Seema Punia

(c) Navjeet Kaur Dhillon

(d) Avinash Sable

Directions (151-152) Fill in the blank with the
proper modal.

Q151. You ____ bring more food. We have enough
supplies already.

(a)shall not

(b)need not

(c)ought to

(d)could not

Q152. It was alongday. You _____be hungry.
(a)must

(b)might

(c)must

(d)shall

Directions (153-154) Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect/Direct speech.

Q153. My father said to me, "Don't talk to your teacher
like that."

(a) My father warns me not to talk to my teacher like
that.

(b) My father warned me not to have talked to my
teacher like that.

(c) My father warned me not to talk to my teacher like
that.

(d) My father warns me not to have talked to my
teacher like that.
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Q154. My grandfather said to me, "Life will teach you
some hard lessons."

(a) My grandfather tells me that life teaches you some
hard lessons.

(b) My grandfather told me that life would teach me
some hard lessons.

(c) My grandfather tells me that life will be teaching
you some hard lessons.

(d) My grandfather told me this that life will teach you
some hard lessons.

Q155. Fill in the blank with the correct determiner :-
She wanted to read about ____ funny schools.

(a) The

(b) Those

(c) Some

(d) Many

Q156. Fill in the blank with the correct determiner :-
They could help ____ another with the homework.
(a) Some

(b) Each

(c) Many

(d) One

Directions (157) Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active voice.

Q157. Broken track brings hundreds of trains to a halt.
(a) Hundreds of trains were brought to a halt by
broken track.

(b) Hundreds of trains are brought to a halt by broken
tracks.

(c) Hundreds of trains had been brought to a halt by
broken tracks.

(d) Hundreds of trains have been brought to a halt by
broken tracks.

Q158. “I know him.” The passive voice form of the
sentence will be

(a) He is known by me.

(b) He knows me.

(c) He is known to me.

(d) None of the above

Q159. Select the most appropriate word to fill in the
blank

The plant will die
(a) if

(b) until

(c) unless

(d) otherwise

you look after it

Q160. We cannot postpone today’s discussion on the
issue of the security of the colony _____itis urgent.
(a) in case

(b) although

(c) because

(d) therefore

Directions (161-170): Read the following passage
carefully and answer the questions given below it.
Certain words are given in bold to help you locate
them while answering some of the questions.

The furor in the international community over the
actions of the Myanmar armed forces in Rakhine state
in recent weeks has led to widespread criticism of the
civilian National League for Democracy (NLD)
government, unofficially led by Daw Aung San Suu Kyi.
A central theme of the criticism has been that the
Nobel Prize winner either agrees with the ethnic and
sectarian bigotry of a large part of Myanmar’s
electorate, or that she is afraid to confront it due to
electoral concerns and a fear of being seen as bowing
to foreigners. However, this analysis misses a key
factor in the political landscape of modern Myanmar:
the tie between the country’s experiment with a
civilian-led semi-democracy and the rise in living
standards for ordinary people this change in the
political system is meant to bring about.

As the Myanmar armed forces have demonstrated so
brutally against the minority Rohingya, for its
legitimacy as an institution the military (the
Tatmadaw) in Myanmar can still draw upon the idea
of itself as the chief defender of Myanmar’s territorial
integrity and guarantor of the majority Bamar elite’s
continued dominance within it. The Tatmadaw also
still control the ministries of defense, home affairs,
and border affairs, and a quarter of the seats in
Myanmar’s parliament. Meanwhile the NLD is
responsible to a diverse electorate that seems, now,
united only by its loathing of the Rohingya. Much of
that electorate has grown up listening to Myanmar’s
generals (and their successors) lambasting the
practice of democratic civilian government in order to
justify the Tatmadaw’s coups in 1962 and 1988
against the legitimate rulers of Myanmar. Despite 50
years of military misgovernment, charges that civilian
rule is corrupt, inept at ruling the country, and unable
to achieve peace and security still carry weight in a
society which has been at war with itself since
independence in 1947.
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Some of the major priorities of that electorate can be
seen from the responses to an opinion survey
published in August by the International Republican
Institute (IRI), a U.S.- based pro-democracy nonprofit.
IRI interviewed 3,000 adult citizens (those eligible to
vote) of Myanmar, who were weighed by state and
region, on their views about “their socio-economic
status, political and security situations of the country,
the democratic transition and rights, and perceptions
of government, legislature, political parties and the
media” according to local media outlet The [rrawaddy.
For supporters of Myanmar’s transition to democracy
this survey of public opinion revealed some
disturbing results. Eye-openingly for democracy
activists, a large percentage of the electorate seemed
ready to judge not the NLD, but the democratic system
itself for Myanmar’s economic performance.
According to the IRI, 40 percent of their respondents
thought that the economy was more important than
democracy, versus just 24 percent who rated
democratic reform as being more important overall.
Another 11 percent of those surveyed rated further
democratic reform as “moderately” important.

The Irrawaddy added that the IRI's report even
showed ordinary people putting economic
development ahead of the country’s complex peace
process, a central plank of Aung Sang Su Kyi’s political
program. The central thrust of the survey’s
revelations was any government of Myanmar would
only be broadly liked and accepted if it could solve
local people’s livelihood difficulties. This would
matter less for the NLD in its struggle with the
Tatmadaw if Myanmar’s economic growth was still
increasing. However, growth fell from 7.3 percent in
2015-2016 to 6.4 percent in 2016-17, and while the
current year’s forecast is a more cheerful 7.7 percent,
(and 2018-19’s estimate is even higher) that sunny
scenario is heavily dependent on getting billions more
dollars-worth of Foreign Direct Investment (FDI) into
the country’s economy. With foreign governments and
businesses now mulling how to respond over the
Tatmadaw’s unprecedented rampage across Rakhine
state (which has now seen a record 480,000 Rohingya
fleeing to unsafe and unhealthy refugee mega-camps
Bangladesh) this hoped-for investment is now at risk.
So far investors have held their nerve but they are
keenly aware of how Myanmar is perceived
internationally.

Q161. Why is Daw Aung San Suu Kyi not taking a firm
stand on Rohingya crisis?

(D) because she is keen to maintain her electoral vote
bank

(IT) because she agrees with the ethnic and sectarian
bigotry of the large part of Myanmar’s electorate

(II1) as she doesn’t want to be seen as a puppet of the
foreigners

(a) Only (I)

(b) Only (1II)

(c) Both (II) and (III)

(d) None is true

Q162. Why do the people of Myanmar prefer
economic performance to democracy?

(a) so that they could enjoy better quality of life and
secure their future.

(b) as they are skeptical about the rate of economic
growth shown by different agencies/reports

(c) because they don’t want to focus on the complex
peace restoring process.

(d) because they don’t want to be a part of the struggle
against the ill- treatment of people by Tatmadaw.

Q163. The military (the Tatmadaw) is castigating its
power to exploit innocent citizens of Myanmar.
Explain.

(a) as they constitute around a quarter of seats in the
parliament, so they end up holding utmost power in all
spheres of government

(b) as they control ministeries of home affairs,
defense, border affairs, etc

(c) as they are damaging the socio-economic status of
the common people of Myanmar

(d) as it is raising a threat to the political and security
situations of the country.

Q164. How deracination of large number of
Rohingyas affected the mood of the international
community towards the government of Myanmar?

(a) it has created an uproar in the international media
about the future of Myanmar

(b) investors are becoming conscious day by day
about the gloomy economic slowdown

(c) investors are restructuring the FDI policies in view
of the instability existing in Myanmar

(d) investment is now at risk due to the growing
human crisis in Myanmar
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Q165. Which of the following statements is/are NOT
TRUE in the context of the passage?

(a) The Tatmadaw has indirectly got all the rights to
curb, crush and demolish Rohingyas

(b) National League for Democracy (NLD) government
is trying to hold absolute power in order to restore
peace in Myanmar

(c) National League for Democracy (NLD) government
is trying to overlook the ill treatment of Rohingyas by
the military

(d) The Tatmadaw consider themselves as the
guarantor of the Bamar elites.

Directions (166-168): Choose the word/group of
words which is most SIMILAR in meaning to the
word/group of words printed in bold as used in
the passage.

Q166. Lambasting
(a) inure

(b) revile

(c) neglect

(d) onerous

Q167. Revealed
(a) intimation
(b) inimical

(c) fatuous

(d) divulge

Q168. Rampage
(a) Umbrage

(b) rescind

(c) toady

(d) berserk

Directions (169-170): Choose the word/group of
words which is most OPPOSITE in meaning to the
word/group of words printed in bold as used in
the passage.

Q169. Revelation
(a) punctilious

(b) upbraid

(c) camouflage

(d) recalcitrant

Q170. Major
(a)Minor
(b)Big
(c)Huge
(d)Little

Choose (171-172) the correct form of adverbs for
the given sentences.

Q171. 1 accepted the new task
(a) carefully

(b) greatly

(c) methodically

(d) willingly

Q172. He ruled
(a) wisely

(b) hardly

(c) interestedly
(d) interestingly

for many years.

Q173. Choose the part of the sentence which is
incorrect

We tried to get a consensus of opinion and it proved to
be easy than I thought.

(a) We tried to get a

(b) consensus of opinion and it proved

(c) to be easy than I thought.

(d) No error

Q174. Choose the correct adjective to fill the blank:
There was milk in the refrigerator for the
guests.

(a) alittle

(b) the little

(c) few

(d) a few

Q175. Choose the correct articles to fill the blank:
Baskets made by
beautiful and sold over _____ world.
(a) a, the

(b) the, the

(c) an, the

(d) an, a

Naga women of Imphal are

Q176. Choose the correct option to fill the blank:
following all the instructions closely, she

missed out on an important guideline.

(a) Instead of

(b) Although

(c) Inspite of

(d) Otherwise
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Q177. Change the given sentence into passive voice.
(a) You should have passed the medical examination.
(b) The medical examination should have been passed
by you.

(c) The medical examination should be passed by you.
The medical examination could be passed by you

(d) The medical examination could have been passed
by you.

Q178. Change the sentence into indirect speech.

My son said to me, "I will not study."

(a) My son tells me that he will not study.

(b) My son tells me that he will not be studying.

(c) My son told me that he would not study.

(d) My son had told me that he would not be studying.

Q179. Select the synonym of the given word.
REQUISITE

(a) dominant

(b) dynamic

(c) critical

(d) obligatory

Q180. Select the antonym of the given word.
VETERAN

(a) youthful

(b) pliable

(c) expert

(d) amateur

Q181. Vishal couldn't _____ breakfast today.
(a) had

(b) have been

(c) have

(d) having

Q182. Select the correctly punctuated sentence.

(a) They left for Delhi, India on January 18 of that year.
(b) They left for Delhi India, on January 18 of that year.
(c) They left for Delhi, India, on January 18, of that
year.

(d) They left for Delhi, India on January, 18 of that
year.

Directions: (183-184) Fill in the blanks with
suitable prepositions:

Q183. A judge never gropes the conclusion.
(a) At

(b) From

(c) For

(d) of

Q184. My father has invested a lot of money ____
the company.

(a) For

(b) In

(c) Into

(d) on

Q185. Choose the correct meaning of the given idiom
or phrase

Under the weather

(a) Make a problem worse

(b) Sick

(c) To get upset

(d) An ideal situation

Q186. In many cultures- to make wishes come true
(P)/ that blue has the power (Q)/ people believe (R)/
and be successful in life (S)

The correct sequence should be

(a) PSRQ

(b) RSPQ

(c) RQPS

(d) SQPR

Q187. From a picnic table- through the playground
(P)/ while we unpacked a basket (Q)/ we watched
them laugh and leap (R)/ bulging with sandwiches and
cookies (S)

The correct sequence should be

(a) RSQP

(b) QPRS

(c) RPQS

(d) QSRP

Q188. My father retired at the age of 68,- where he
had served, (P)/ in South Carolina (Q)/ as Pastor for
12 years, (R)/ from a Baptist Church (S)

The correct sequence should be

(a) PRSQ

(b) SQPR

(c) SPQR

(d) QPRS
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Q189. The completion- it enables employees to feel
a sense of accomplishment (P)/ and makes them take
pride in their work; (Q)/ of high quality products (R)/
also enhances employee satisfaction, because (S)

The correct sequence should be

(a) PQRS

(b) RQPS

(c) PSRQ

(d) RSPQ

Q190. But, Kuala Lumpur- where modern Malay
executives (P)/ but will never miss Friday prayers
(Q)/ might have a cellular phone in hand, (R)/ is a city
firmly rooted in tradition (S)

The correct sequence should be

(a) RQSP

(b) SPRQ

(c) RPSQ

(d) SQRP

Q191. Complete the following sentence with correct
conjunction:
he had not paid his bill, his electricity was cut
off.
(a) But
(b) Either
(c) Unless
(d) As

Q192. Choose the correct figure of speech in the
following sentence:

Death lays his icy hand on kings.

(a) Metaphor

(b) Personification

(c) Apostrophe

(d) Simile

Q193. The study of population is known as
(a) Ecology

(b) Astronomy

(c) Demography

(d) Genealogy

Q194. Give the meaning of the following proverb:

A bird in hand is worth two in a bush

(a) To catch two birds with your hands

(b) To be dissatisfied with what you have

(c) It is better to be satisfied with what you have than
to try to get what is not yours

(d) To trap birds in bushes

Q195. Which of the following sounds is not associated
with the sound of a bell?

(a) Chime

(b) Jingle

(c) Ring

(d) Dang

Q196. Fill in the blank with the correct preposition:
Are you sorry
(a) with

(b) for

(c) by

(d) over

what you have done?

Q197. Pick out the correct synonym of the following
word:

Attenuate

(a) Repent

(b) Force

(c) Divide

(d) Make thin

Q198. Pick out the compound sentence.

(a) To add to their troubles the servant ran away.

(b) Having no money with me, [ could not give the
beggar anything.

(c) I'loved him because he was my friend.

(d) The servant ran away and added to their troubles.

Q199. Select the most appropriate preposition to
complete the following sentence:
Why are you always so suspicious me?
(a) to

(b) with

(c) of

(d) for

Q200. Choose the correct alternative to complete the
following sentence:
The Headmaster to speak to you.
(a) wants

(b) is wanting

(c) was wanting

(d) None of the above
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S1. Ans.(a) $13. Ans.(d)

Sol. only (a) have digits sum equal. Sol.
All three use Raw material except teacher.

S2. Ans.(c)

So. BHARATHI

96 575368 S$14. Ans.(a)

Sol.

$3. Ans.(c) +2 +2

Sol. e Y
AZYB:CX WD

S$4. Ans.(b) >

Sol. In the first and second statements, the common -2 -2

word is ‘Juice’ and the common code word is ‘see’ so, So +2,-2,-2,+2 series.

‘see’ Means ‘Juice’.

anh,e second and third statgm’ent’sz, th’e c?mmon \f\./o’rd $15. Ans.(b)

is ‘is’ and the common code is ‘lee’ so ‘lee’ means ‘is Sol

~ ‘Sweet’ is coded as ‘kee’ )

S5. Ans.(a) $16. Ans.(c)

Sol. Two possibilities Sol.

North SITA, wife of RAM
D_,_, UTTARA, wife of ABHIMANYU.

$17. Ans.(c)

South Sol.
4x8-16+4+6+3+2

$6. Ans (d) 32-4+2+2=32

Sol.

$7. Ans.(d) $18. Ans.(c)

Sol. Sol.
All follow (15t)3 + 1

$8. Ans.(a) Except (c)

Sol.
$19. Ans.(a)

S9. Ans.(c) Sol

Sol. (x2+1), (x2-1) SERIES ) Deer
Dogs

$10. Ans.(c)

Sol. SQUARE SERIES Cats

$11. Ans.(c)

Sol.

Except (c) all follow 1st x 3 + 2 Pattern.
$20. Ans.(d)

$12. Ans.(b) Sol.

Sol.

RIVER — ERVRI $21. Ans.(d)

KA _
Inter change 1st two latter with last two latter. Sol.7x2+9=23
TRAIN — INATR 2x1+6=8
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$22. Ans.(a)
Sol.
A=2B=3C

$23. Ans.(c)
So0l.12-8+12x9+3

12 2><9+3
3

12-6+3
=9

S$24. Ans.(a)
Sol. First is the unit to measure the second.

$25. Ans.(c)

Sol.

C E G I D F H J
-2 l+2 12 l+2 -2 l+2 I-2 l+2
A G E K B H F L

$26. Ans.(c)
Sol.

$27. Ans.(b)
Sol. All except (b) are works of Shakespeare.

$28. Ans.(b)
Sol. First, we saw seed, than it becomes plant, then
tree, then wood is cut then table is made.

$29. Ans.(a)
Sol. City comes under state and state comes under
country.

$30. Ans.(d)
Sol.
7+9+2 3+6+4
18 13
-5 all have same logic except (d)
$31. Ans.(b)
Sol.

All except (b) are young ones of animals.

$32. Ans.(c)

Sol.
D F G I ]J L

e N e
+2 +1 +2  +1 +2

$33. Ans.(a)
Sol.

(a(Qm)

S$34. Ans.(a)

Sol.

H U T =94
+21 +20 =49
U N=14
+21 +14 =41

[©)We> e

$35. Ans.(c)
Sol.

3:18
32+3x3=18
7%:70
7°+7x3
92:108
92+9x3
4:24

4% +4 x 3 =28

$36. Ans.(c)
Sol.

1 3 6
1 2

S5}

$37. Ans.(d)

Sol.
3 10 29 88 263

\!——/\!-_——/\——/\'-——A-_—/
x3+1 x3-1 x3+1 x3-1 x3+1

$38. Ans.(c)

Sol.

2,3 ,45,65,9 12
N N N T~

+1 +1.5 +2 +2.5 +3
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$39. Ans.(a)
Sol.

K ¢ S T O R A R
H A R D L U T l|(
DD R L U A H C K
$40. Ans.(b)

Sol.

S$41. Ans.(c)

Sol.

codesare>a=>3;d=>2;e=>4;r=>1;h=>5;t=6
I=>8o0r7;P=7o0r8,thecodeforiis9

S$42. Ans.(b)
Sol.

q#.
5
10

10

She is facing west

$43. Ans.(c)
Sol.
bcb/aca/bcb/aca/beb/aca/b

S$44. Ans.(c)
Sol.
Pramod — Sheela

Rahul = Robin Prema

Shubha

$45. Ans.(d)
Sol. Cup is used to drink something with the help of
lips similarly. BIRDs collect grass with Beak.

$46. Ans.(c)
Sol. National Bird of India is peacock and Bear is
National animal of Russia.

S$47. Ans.(c)

Sol.

T E A B U S
¢+2 J,+2 ‘L+2 ¢+2 \l{+2 J,+2
\% G C D W U

$48. Ans(a)
Sol. 24 people

$49. Ans(D)
Sol.6+12+3x5
6+4x5=26

$50. Ans(b)
Sol. 5 is opposite side of 3

$51. Ans.(a)

Sol. A strong leadership ensures that the school
maintains discipline and order, which is essential for
creating a positive learning environment. Option (b) is
also correct, but it is a secondary benefit of good
leadership. Option (c) is incorrect because leadership
is not optional. Every school needs a leader to function
effectively. Option (d) is incorrect because leadership
has a significant impact on the school environment.

$52. Ans.(d)

Sol. Students can contribute to their own learning by
actively participating in discussions and activities,
completing assignments on time, and asking questions
and seeking clarification. Option (a) is correct because
active participation promotes engagement and helps
students retain information better. Option (b) is
correct because completing assignments on time
helps students stay organized and manage their time
effectively. Option (c) is correct because asking
questions and seeking clarification helps students
better understand the material and clear up any
confusion.

$53. Ans.(c)

Sol. Punishing teachers for student misbehavior, is not
a way to promote social maturity in teachers.
Punishment can lead to negative emotions and
resentment, which can hinder the teacher's ability to
develop socially mature responses. On the other hand,
providing training and professional development
opportunities, encouraging collaboration and
teamwork among teachers, and providing
opportunities for self-reflection and feedback are all
effective ways to promote social maturity in teachers.
Training and development opportunities can provide
teachers with the necessary skills and knowledge to
manage social interactions effectively. Collaboration
and teamwork can help teachers develop empathy and
effective communication skills, while self-reflection
and feedback can help teachers identify areas for
improvement and develop a growth mindset.
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S$54. Ans.(c)

Sol. Using a variety of teaching methods to
accommodate different learning styles, is an example
of professional commitment in teaching. Professional
commitment refers to a teacher's dedication to their
profession, students, and ongoing learning. By using
various teaching methods, teachers can provide
students with a personalized learning experience that
caters to their individual needs and abilities. In
contrast, focusing only on delivering the curriculum
without considering students' interests, ignoring
students’ questions and concerns outside of class
hours, and refusing to attend professional
development opportunities are not examples of
professional commitment. These actions can hinder a
teacher's ability to provide the best possible learning
experience for their students and limit their
professional growth.

$55. Ans.(c)

Sol. the teacher's ability to establish positive
relationships with students and colleagues, best
describes interpersonal relations in teaching.
Interpersonal relations in teaching refer to the
teacher's ability to interact with and relate to others,
including students, colleagues, and parents. Positive
relationships with students and colleagues can foster
a supportive and collaborative learning environment
that benefits everyone. In contrast, options A, B, and D
focus on specific aspects of teaching, such as behavior
management and academic support, but do not
capture the broader scope of interpersonal relations.
While these aspects are important, they are just one
component of effective teaching that involves building
positive and meaningful relationships with students
and colleagues.

$56. Ans.(d)

Sol. studying consistently and seeking help when
needed, is the best way for students to improve their
grades in school. Consistent studying allows students
to understand and retain the course material, while
seeking help when needed ensures that they have a
clear understanding of any challenging concepts.
Options A, B, and C are unethical and can result in
serious consequences, including failing grades,
academic probation, and even expulsion. Cheating and
paying someone to do assignments undermine the
academic integrity of the institution and do not reflect
the student's actual knowledge or abilities. Similarly,
skipping classes can result in missed learning
opportunities and lower grades. Therefore, it's
important for students to prioritize consistent
studying and seek appropriate help when needed to
achieve academic success.

$57. Ans.(c)

Sol. Offering regular updates and finding ways to
address parent concerns, is an effective way for
teachers to communicate  with  parents.
Communication with parents is essential for building
a strong home-school partnership that supports
student success. Regular updates, such as progress
reports or parent-teacher conferences, provide
parents with valuable insights into their child's
academic and social progress. Addressing parent
concerns demonstrates a teacher's commitment to
their student's well-being and can help to build trust
and rapport. In contrast, options A, B, and D are not
effective ways to communicate with parents. Ignoring
parent concerns, blaming parents for their child's
behavior or performance, or refusing to communicate
altogether can damage the home-school relationship
and hinder student success. Therefore, effective
communication with parents requires a collaborative
and solution-oriented approach that fosters mutual

respect and understanding.

$58. Ans.(b)

Sol. Creating a supportive and engaging learning
environment, is an effective way for a teacher to
promote intrinsic motivation in students. Intrinsic
motivation is the desire to engage in an activity for its
inherent satisfaction rather than for an external
reward. A supportive and engaging learning
environment can foster intrinsic motivation by
promoting student autonomy, providing
opportunities for choice and exploration, and
connecting learning to student interests and goals. On
the other hand, offering extrinsic rewards for good
performance, ignoring student motivation, and
criticizing students for their lack of motivation can
undermine intrinsic motivation by focusing on
external factors and creating pressure and anxiety.
Therefore, promoting intrinsic motivation requires a
student-centered approach that values student voice
and choice, supports student curiosity and creativity,
and provides opportunities for meaningful learning

experiences.
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$59. Ans.(c)

Sol. offering specific feedback on areas for
improvement and providing guidance on how to
improve, is an effective way for an ideal teacher to
provide feedback to students. Effective feedback
provides students with clear and actionable insights
into their work, highlighting both their strengths and
areas for improvement. Specific feedback can help
students identify areas where they need to focus their
efforts and provide guidance on how to improve their
work. In contrast, options A, B, and D are not effective
ways to provide feedback. Criticizing student work
without offering suggestions for improvement can be
demotivating, while focusing solely on positive
feedback can create a false sense of achievement and
hinder student growth. Ignoring student work
altogether can lead to missed learning opportunities
and undermine the teacher-student relationship.
Therefore, an ideal teacher should provide
constructive feedback that supports student learning
and growth.

$60. Ans.(b)

Sol. The role of teachers in the development of moral
values among students is to provide guidance and
support. Teachers should act as role models and
demonstrate ethical behavior in their interactions
with students. They should encourage honesty,
integrity, empathy, and respect for others. Option (a)
is incorrect as it is unethical and goes against the
purpose of moral development. Option (c) is incorrect
as it promotes negative behavior, while option (d) is
incorrect as it goes against the goal of developing
moral values in students.

$61. Ans.(d)

Sol. Physical appearance is not a factor that affects
moral development. Factors that influence moral
development include family values (option a), peer
pressure (option b), and cultural norms (option c).
Family values play a significant role in shaping a
child's moral beliefs and behaviors. Peer pressure can
influence a child's ethical decision-making and
behavior, while cultural norms can affect a person's
sense of right and wrong. Option (d) is incorrect as it
is not relevant to moral development.

$62. Ans.(b)

Sol. Cultural differences can be a barrier to effective
communication in school because students from
different cultures may have different ways of
communicating, which can lead to misunderstandings
and misinterpretations.

Option (a) is incorrect because active listening is a
practice that enhances effective communication
rather than a barrier to it. Active listening involves
giving full attention to the speaker, understanding
their message, and responding appropriately.

Option (c) is incorrect because clarity of message is a
characteristic of effective communication, not a
barrier to it. A lack of clarity in the message can be a
barrier to communication, but clarity itself is not a
barrier.

Option (d) is also incorrect because understanding of
subject matter is necessary for effective
communication to take place. However, a lack of
understanding of the subject matter can be a barrier
to communication.

$63. Ans.(c)

Sol. When selecting instructional materials, it is
important to choose materials that are directly
relevant to the learning objectives and will help
students to achieve the intended outcomes.

Option (a) Cost can be a consideration, but it should
not be the primary factor in selecting instructional
materials.

Option (b) Popularity may not be a reliable indicator
of the effectiveness of instructional materials.

Option (d) Availability at local stores may not be
relevant if the best instructional materials are not
available locally.

$64. Ans.(c)

Sol. The correct answer is option (c) Sequencing
activities logically and purposefully. Learning
activities should be organized in a way that makes
sense and helps students to progress towards the
learning objectives.

Option (a) Randomly selecting activities may not lead
to a cohesive and effective lesson plan.

Option (b) Grouping activities by their length may not
be the most effective way to organize activities, as the
length of an activity does not necessarily indicate its
importance or relevance.

Option (d) Allowing students to choose their own
activities may not be effective in ensuring that they are
working towards the learning objectives.

$65. Ans.(d)

Sol. A principal's role in student assessment is to
develop assessment policies that align with state
standards and are implemented consistently across
the school. Option (a) is incorrect because creating
assessment tools is the responsibility of the teacher or
department head. Option (b) is incorrect because
grading student work is the responsibility of the
teacher. Option (c) is incorrect because providing
feedback to students and teachers is a collaborative
effort involving the teacher and the principal.
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$66. Ans.(b)

Sol. The most effective way to reform a child's
aggressive behavior is by investigating the underlying
reasons for their behavior. It's crucial to identify the
triggers, such as stress or trauma, that may be causing
the aggression and address them. [solation and severe
punishment can worsen the behavior and have
negative long-term effects on the child's mental
health. Ignoring the behavior can also lead to
escalation and reinforce the aggressive behavior.
Other helpful strategies may include positive
reinforcement, teaching coping skills, and seeking
professional help if needed.

S$67. Ans.(d)

Sol. The appropriate action to take as the Principal of
the school if a teacher doesn't arrive on time for a
school function is to remind the teacher of their
responsibilities and inquire about the reason for their
tardiness. Publicly reprimanding the teacher or filing
a complaint can cause humiliation and create an
unpleasant work environment. Scheduling a meeting
after the function can also be a helpful approach to
address the issue constructively. It's essential to
maintain a professional and respectful attitude
towards the teacher while emphasizing the
importance of punctuality and responsibility in their
role as an educator.

$68. Ans.(a)

Sol. As a school administrator, the most effective
attitude to adopt to prevent social evils from
impacting the school environment is an optimistic
one. An optimistic attitude can inspire hope, create a
positive atmosphere, and encourage collaboration
among teachers, students, and parents. A pessimistic
attitude can lead to a negative mindset and discourage
proactive measures to address social issues. Similarity
to other teachers or indifference can create
complacency and hinder the necessary actions to
address social evils. It's crucial for school
administrators to remain optimistic while recognizing
the challenges and taking proactive steps to create a
safe and supportive environment for all members of
the school community.

$69. Ans.(d)

Sol. The potential positive outcome of informing
students about their exam performance soon after the
exam has ended is to strengthen their inspiration.
When students receive timely feedback on their exam
performance, they can assess their strengths and
weaknesses and take appropriate measures to
improve. This can help them set realistic goals,
develop effective study habits, and build their
confidence. Humiliating or punishing students can
have a negative impact on their self-esteem and
discourage them from learning. Tempting them with
rewards can create a superficial motivation that may
not last. It's essential to provide feedback in a
constructive and supportive manner, emphasizing the
areas for improvement while acknowledging their
efforts and accomplishments.

$70. Ans.(b)

Sol. The responsibility of a class teacher towards
maintaining discipline in the classroom is to create a
supportive and inclusive classroom environment that
promotes positive behavior and learning. Ignoring
disruptive behavior or encouraging students to act out
can escalate the situation and hinder the learning
process. Punishing students for every behavior that
disrupts the learning environment can create a
negative atmosphere and impact their motivation and
self-esteem. It's crucial for class teachers to establish
clear expectations and rules for behavior, model
respectful and responsible behavior, and provide
positive reinforcement for good behavior. They
should also address any disruptive behavior
promptly, communicate with students and parents,
and seek support from school counselors or
administrators when necessary.

S$71. Ans.(a)

Sol. Mental development refers to development which
enables a child to explore and process information to
learn and understand the things around him.
Interaction, stimulation and play are the important
factors that assure the mental development of a child.

$72. Ans.(c)

Sol. Learning objectives help the teacher guide
students as they work through the course, and to
assess their learning progress. Excellent learning
objectives provide a guide for students when
reviewing materials and preparing for assessments.

$73. Ans.(d)

Sol. Teachers can leverage technology to achieve new
levels of productivity, implement useful digital tools to
expand learning opportunities for students, and
increase student support and engagement
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S$74. Ans.(d)

Sol. Leading teachers play a critical role in improving
the skills, knowledge, and performance of their
colleagues. They provide professional development
opportunities, offer feedback and coaching, and model
effective teaching practices. Leading teachers also
collaborate with other teachers and school leaders to
develop and implement effective teaching strategies
and curricula. By supporting the ongoing professional
growth of their colleagues, leading teachers help
create a culture of continuous improvement that
promotes student learning and achievement.

$75. Ans.(a)

Sol. Schools must frequently engage with parents to
ensure the academic progress of their students.
Regular communication with parents can provide
important insights into a student's strengths,
weaknesses, and learning styles. It can also help
parents understand how they can support their child's
learning at home. Additionally, involving parents in
school activities and events can promote a sense of
community and encourage parental involvement in
their child's education. Collaborating with parents can
improve student outcomes and help create a positive
and supportive learning environment.

$76. Ans.(a)

Sol. Children will learn only in an atmosphere where
they feel they are valued. Children need to feel that
each one of them,their homes, communities , language
and cultures are valuable as resources for experience
to be analysed and required at school.

$77. Ans.(d)

Sol. Maintaining discipline in class is important but

not as important as other factors. The purpose of

teaching ,are to help students to

e Acquire ,retain and be able to use knowledge

e Understand ,analyse ,synthesise and evaluate
skills

e Establish habits

e Develop attitudes

$78. Ans.(b)

Sol. The teaching must be done from known to
unknown concepts, i.e. the concept of society should
be taught first and then the concept of state or a world
should be taken into the picture.

$79. Ans.(d)

Sol. Non-involvement of students in activities is one of
the most potent reasons for student indiscipline in
schools. When students feel disconnected from the
school community and lack meaningful engagement,
they may become disengaged, apathetic, and prone to
disruptive behavior. Involving students in activities
such as sports, clubs, and volunteering can provide
them with a sense of purpose, belonging, and
accomplishment. This can foster positive behavior,
promote student well-being, and enhance the overall
school culture.

$80. Ans.(b)

Sol. The most appropriate attitude for a teacher to
exhibit when a student is consistently disruptive in
class is empathy and understanding. Punitive and
authoritative attitudes can escalate conflict and
damage the teacher-student relationship. Indifferent
and distant attitudes can exacerbate the problem and
make the student feel isolated. Humorous and
lighthearted attitudes can undermine the seriousness
of the situation. Empathy and understanding can help
the teacher identify the root cause of the behavior and
work collaboratively with the student to find a
solution.

$81. Ans.(d)

Sol. Transactional leadership style is characterized by
a leader who is highly focused on achieving goals and
rewards team members for meeting objectives. This
style works well in a structured environment where
tasks are clearly defined, and rewards can be easily
measured.

$82. Ans.(b)

Sol. Written communication is the best type of
communication for addressing issues related to school
policies or procedures with staff members. It provides
a record of the communication and can ensure that
everyone has a clear understanding of the issue and
the steps being taken to address it. Written
communication can take the form of memos, emails, or
policy manuals.

$83. Ans.(b)

Sol. Interpersonal relations in teaching refer to the
teacher's ability to establish positive relationships
with students and colleagues. It involves effective
communication, active listening, and empathy toward
students and colleagues.
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$84. Ans.(c)

Sol. A teacher can improve interpersonal relations
with colleagues by respecting their opinions and
perspectives. This involves active listening, giving
credit where credit is due, and showing empathy
toward their challenges and struggles.

$85. Ans.(a)

Sol. Awareness is crucial in teaching as it helps
teachers understand their students' needs, abilities,
and limitations. This allows teachers to tailor their
teaching methods to meet the specific needs of each
student, which can lead to better academic outcomes.

$86. Ans.(a)

Sol. Communication refers to the ability to convey
information clearly and effectively. This is important
for teachers as they must be able to communicate their
lessons and ideas to their students in a way that is easy
to understand and engaging.

$87. Ans.(d)

Sol. Cultural competence involves understanding and
respecting cultural differences and is important for
anyone who interacts with people from different
cultural backgrounds. It involves being aware of one's
own cultural biases and assumptions and being able to
adapt one's communication and behavior to be more
effective in a multicultural context.

$88. Ans.(b)

Sol. The primary goal of a school's professional
development program is to develop teaching skills and
knowledge. Professional development programs
provide opportunities for teachers to learn new
teaching strategies, deepen their content knowledge,
and stay up-to-date with the latest research in
education. Professional development can also
promote teacher collaboration, which can enhance the
overall school culture and improve student outcomes.
While maintaining teacher certification and
monitoring teacher performance may be part of a
professional development program, the primary goal
is to promote ongoing learning and growth for
teachers.

$89. Ans.(c)

Sol. Disrupting classes and causing distractions. This
is not a role of a student in a school environment and
can negatively impact the learning experience for
others.

$90. Ans.(c)

Sol. Inspiring and motivating team members is a key
characteristic of a transformational leader. These
leaders have a clear vision for the future and inspire
their team members to work toward achieving that
vision. They encourage creativity and innovation and
are not afraid to take risks to achieve their goals.

$91. Ans.(d)

Sol. Verbal communication is the best type of
communication for providing instructions or
directions to students. It allows for immediate
clarification and can be tailored to individual needs.
Verbal communication can take place in the classroom
or during individual conversations.

$92. Ans.(b)

Sol. Social awareness is essential in promoting gender
equality in schools. It involves recognizing and
challenging  gender  stereotypes, bias, and
discrimination. Teachers and students should work
together to create an inclusive learning environment
that promotes gender equality and respects diversity.

$93. Ans.(c)

Sol. A teacher can promote self-discipline among
students by encouraging self-reflection and setting
achievable goals. Teachers who help students identify
their strengths and weaknesses and set realistic goals
can help them develop the self-discipline they need to
succeed. Strict rules and regulations or criticism can
create a negative and stressful learning environment
that hinders self-discipline.

$94. Ans.(c)

Sol. The most effective way for a teacher to help
students who lack motivation is to provide support
and find ways to address the underlying issues.
Teachers who take a proactive approach to motivation
can create a positive and supportive learning
environment that helps students develop the intrinsic
motivation they need to succeed. Criticism or extrinsic
rewards may provide short-term results but can
damage intrinsic motivation in the long run.

$95. Ans.(d)

Sol. The most important quality of an ideal teacher is
a positive and supportive attitude. Teachers who
create a supportive and caring learning environment
can help students feel valued and motivated to learn.
Knowledge and expertise in the subject matter, good
communication skills, and patience and empathy are
also important, but a positive attitude is a foundation
for effective teaching.
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$96. Ans.(c)

Sol. An ideal teacher can engage all students in the
learning process by encouraging student participation
and offering opportunities for active learning.
Teachers who understand their students' needs and
interests can create a positive learning environment
that motivates students to learn and explore new
ideas. Focusing solely on academic content or
extrinsic rewards may provide short-term results but
can damage intrinsic motivation in the long run.

$97. Ans.(c)

Sol. The most effective way for a teacher to handle a
disruptive student is to provide support and find ways
to address the underlying issues. Teachers who take a
proactive approach to behavior management can
create a positive and supportive learning environment
that helps students develop the skills they need to
succeed. Ignoring or punishing the student may create
a negative and stressful learning environment that
hinders their development.

$98. Ans.(a)

Sol. The most effective way for a teacher to handle a
consistently absent or late student is to provide
support and find ways to address the underlying
issues. Teachers who offer guidance and positive
reinforcement can help students develop the self-
discipline and intrinsic motivation they need to
succeed. Criticism or extrinsic rewards may provide
short-term results but can damage intrinsic
motivation in the long run.

$99. Ans.(c)

Sol. The role of professional development in
promoting professional commitment at the school
level is to provide opportunities for continuous
learning and growth. Professional development
allows teachers and school leaders to enhance their
skills and knowledge, which ultimately leads to
improved outcomes for the school community.

$100. Ans.(b)

Sol. The role of schools in promoting social justice and
equity is to provide support and resources for
marginalized students. Schools should strive to create
a positive and inclusive learning environment that
supports the needs of all students, regardless of their
background or experiences.

$101. Ans.(a)

Sol. Naseerabad was the first place where Revolt of
1857 began on 28 th May. During the time ofRevolt of
1857, Rajasthan was divided into 6 British
Cantonments- Naseerabad (Ajmer),Devali (Tonk),
Erinpura (Pali),Kota(Kota),Kherwara (Udaipur) and
Beawar(Ajmer).Kherwara and Beawar didn’t
participate in 1857 revolt.

$102. Ans.(d)

Sol. The Kingdom of Kota was founded by Madho
Singh in 1625. Rao Pratap Singh was the founder of
Alwar state and Maharaja Jagmal Singh founded
Banswara Kingdom.

$103. Ans.(c)

Sol. Kesarvilas is the first drama of Rajasthan that was
written by Shiv Chandra Bhartiya. He also wrote the
first novel of Rajasthan titled “Kanak Sundar”.

$104. Ans.(b)

Sol. Bhanwar Singh Samaur is an Indian writer, poet,
historian, and social worker from Rajasthan. Samaur
is the recipient of the Sahitya Akademi Award 2020 (in
Rajasthani language) for his work Sanskriti Sanatana
Deeth. Samaur is considered an expert on Marwari
(Rajasthani) language. In February 2020, he was
awarded the Kavi Shri Kag Bapu Lok Sahitya Award.

$105. Ans.(c)

Sol. Lakshmi Kumari Chundawat was born on 24 June
1916 in devgarh Rajsamand and was the elder
daughter of Vijaysingh the Rawat of Deogarh, one of
the major thikanas (estates) of the princely state of
Mewar in Rajasthan. She was awarded the Padma Shri
in 1984 for her contribution to Rajasthani literature.
Similarly she has received many awards such as
Sahitya Mahamahopadhyay, Rajasthan Ratna (2012),
Tessitory Gold Award, Maharana Kumbha Award, and
the Soviet Land Nehru Award. She was popularly
known as Raniji.

$106. Ans.(a)

Sol. A total of 40 percent of the population of
Rajasthan resides in the sandy dry plains found in
Rajasthan and the minimum rainfall in this region is
50 cm.

$107. Ans.(a)

Sol. According to the map released by the Bureau of
Indian Standards in the year 2002, Rajasthan comes
under the earthquake zone II, IIl and IV and according
to the data of GSHAP, the state of Rajasthan comes in
the zone of moderate to high seismic danger.
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$108. Ans.(b)

Sol. The extension of the eastern plain of Rajasthan is
found in the districts of Tonk, Bundi, Ajmer, Sawai
Madhopur, Bhilwara, Chittorgarh, Kota, and
Bharatpur and it covers 23.3% of the area of the entire
Rajasthan. The Eastern Plain is divided into 3 regions.

$109. Ans.(b)

Sol. The author of book Mutinies in Rajpootana was an
officer in the Bengal Army L.T. Prichard, the army that
mutinied in 1857. This book is a “personal narrative of
the Mutiny at Nasirabad, with subsequent residence at
Jodhpore, and journey across the desert into Sind,
together with an account of the outbreak at Neemuch,
and mutiny of the Jodhpore Legion at Erinpoora, and
attack on Mount Aboo.&quot;

$110. Ans.(a)

Sol. Vijaydan Detha also known as Bijji was a noted
Indian writer of Rajasthani literature.

He was a recipient of several awards including the
Padma Shri and the Sahitya Akademi Award. With
Komal Kothari, he founded Rupayan Sansthan, an
institute that documents Rajasthani folklore, art, and
music. His literary works include Bataan Ri Phulwari
(Garden of Tales), a 14-volume collection of stories
that draws on folklore in the spoken dialects of
Rajasthan.

$111. Ans.(d)

Sol. The Rajasthan government has decided to provide
200 days of employment under MGNREGA to the
Sahariya tribe and Khairua tribe.

$112. Ans.(d)

Sol. Rajasthan government introduced a bill with
strict provisions. The punishment will be
imprisonment from 5 years to 10 years, and fine from
Rs 10 lakh to Rs 10 crore and also debarred from
examination for 2 years.

S$113. Ans.(a)

Sol. The time of campaign has been extended with the
village/cities being run in the state December 31,
2022.

S$114. Ans.(c)

Sol. Sanjay Kumar Shrotriya is the present chairman
of Rajasthan Public Service Commission. He is an IPS
officer of 1993 Batch.

$115. Ans.(b)
Sol. Dr. Om Prakash received e-Governance Rajasthan
award 2022 .

$116. Ans.(a)
Sol. Usha Sharma is the second woman chief secretary
of the state.

$117. Ans.(a)
Sol. Rehana Riyaz Chishti the current chairman of
Rajasthan State Commission for Women.

$118. Ans.(a)
Sol. Krishna Poonia was appointed president of the
Rajasthan State Sports Council in Feburary 2022.

$119. Ans.(a)

Sol. Vijay Verma ,Folk artist was presented with Dr.
Komal Kothari Memorial Life Time Achievement
Award.

$120. Ans.(c)
Sol. Rajasthan is the first state in the country in the
generation of renewable energy.

$121. Ans.(c)

Sol. Lake Baikal is an ancient, massive lake in the
mountainous Russian region of Siberia, north of the
Mongolian border. Considered the deepest lake in the
world, it’s circled by a network of hiking paths called
the Great Baikal Trail.

$122. Ans.(b)

Sol. Gaza strip lies along the coast of mediterranean
sea. The Gaza Strip is a self-governing entity on the
eastern coast of the Mediterranean Sea that borders
Egypt on the southwest and Israel on the east and
north.

$123. Ans.(c)
Sol. Doab is a term used for tract of land lying between
two rivers.

$124. Ans.(c)

Sol. The Ring of Fire is a major area in the basin of the
Pacific Ocean where a large number of earthquakes
and volcanic eruptions occur. It is associated with a
nearly continuous series of oceanic trenches, volcanic
arcs, and volcanic belts and/or plate movements.

$125. Ans.(b)

Sol. Bhakra Dam is a concrete gravity dam across the
Sutlej River and is near the border

between Punjab and Himachal Pradesh in northern
India.
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$126. Ans.(d)
Sol. World Bank provides long term capital to member
countries for economic reconstruction and
development.

$127. Ans.(b)

Sol. The company calls for money from shareholders
when needed within a certain period. If the
shareholder is not able to pay the call amount due on
an allotment or on any calls according to the terms
before or on the specific date fixed for payment, such
amount is taken call in arrears.

$128. Ans.(d)

Sol. If we deduct grants for creation of capital assets
from revenue deficit, we arrive at the concept of
Effective revenue deficit.

$129. Ans.(a)

Sol. The balance of payments (BOP) of a country is the
record of all economic transactions between the
residents of a country and the rest of the world in a
particular period (over a quarter of a year or more
commonly over a year). Balance of Payment (BoP) of a
country can be defined as a systematic statement of all
economic transactions of a country with the rest of the
world during a specific period usually one year.

$130. Ans.(a)

Sol. Economists do not factor intermediate goods
when they calculate gross domestic product (GDP).
GDP is a measurement of the market value of all final
goods and services produced in the economy. The
reason why these goods are not part of the calculation
is that they would be counted twice.

$131. Ans.(d)

Sol. Panchayati Raj Institution was constitutionalized
through the 73rd Constitutional Amendment Act,
1992 to build democracy at the grassroots level and
was entrusted with the task of rural development in
the country.

$132. Ans.(d)

Sol. Article 263 contemplates the establishment of an
Inter-State Council to effect co-ordination between the
states and between Centre and states. The President
can establish such a council if at any time, it appears to
him that the public interest would be served by its
establishment. He can define the nature of duties to be
performed by such a council and its organization and
procedure.

$133. Ans.(c)

Sol. In case of failure of constitutional machinery is a
state of India; the President can assume all the
functions of the Government of that State, including
the powers of the Governor, but not the powers of the
High Court.

$134. Ans.(b)

Sol. In the Lok Sabha (Lower House of the Indian
Parliament) both Presiding Officers —the Speaker and
the Deputy Speaker are elected from among the
members of Lok Sabha by a simple majority of
members present and voting in the House. The
speaker is elected generally in the first meeting of the
Lok Sabha following general elections. Serving for a
term of five years, the speaker is chosen from sitting
members of the Lok Sabha (House of the People) and
is by convention a member of the ruling party or
alliance.

$135. Ans.(b)

Sol. Article 75 deals with the appointment of the
Prime Minister of India. Article 75 states that the
Prime Minister is appointed by the President of India
and other ministers shall be appointed by the
President of India with the advice of the Prime
Minister.

$136. Ans.(a)

Sol. Venkat II (1586-1614) Not only reconquered
most of the territories but also controlled a number of
Palayagirs. Allowed Portuguese to build Churches at
Vellore.

$137. Ans.(a)

Sol. Kazakhstan Defense Minister General Nurlan
Yeremebayev along with his delegation visited
Jodhpur and Jaisalmer on 7 April 2021 as a part of his
visit to India to enhance bilateral defense cooperation.

$138. Ans.(d)

Sol. An announcement was made by Chief Minister
Ashok Gehlot to provide financial assistance of 1337
crores for the Isarda-Dausa water project in April
2021, this project was announced in the budget of the
year 2019. The beneficiaries of this project are Sawai
Madhopur and Dosa.

$139. Ans.(b)

Sol. Pradyuman Singh has been appointed by the
Governor of Rajasthan, Kalraj Mishra, as the chairman
of the Sixth Finance Commission of the state, while
Laxman Singh Rawat and Ashok Lahoti have been
appointed as members.
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$140. Ans.(b)

Sol. Gulbadan Begum (1523-1603) was a Perso-
Turkic Princess, the daughter of Emperor Babur. She
is most known as the author of Humayun Nama, the
account of the life of her brother, Humayun.

$141. Ans.(d)

Sol. Tomb of Itimad-ud-Daulah is a Mughal
mausoleum in the city of Agra in the Indian state of
Uttar Pradesh. Often described as a, sometimes called
the Baby Taj, the tomb of Itimad-ud-Daulah is often
regarded as a draft of the Taj Mahal.It was built by
Nur Jahan.

$142 .Ans.(b)
Sol. Buddhist literary works generally written as Pali.

$143. Ans.(b)
Sol. Lord Buddha is called Light of Asia.

S$144 .Ans.(c)

Sol. In February 1927, Jawaharlal Nehru on behalf of
the National Congress attended the Congress of
Oppressed Nationalities at Brussels organised by
political exiles and revolutionaries from the countries
of Asia, Africa and Latin America suffering from
economic or political imperialism.

$145. Ans.(a)

Sol. Dandi March was started in India on 12th of
March in 1930 under the leadership of the Mahatma
Gandhi as an important element to the Indian
independence movement. This march was started in
India as a direct action campaign against the tax over
by the British rule.

$146. Ans.(c)

Sol. The founding president of Ghadar Party was
Sohan Singh Bhakna and Lala Hardayal was the co-
founder of this party. Headquarters of the movement
were set up at Yugantar Ashram in San Francisco.

$147. Ans.(b)

Sol. Leaders, Politicians, Citizens: Fifty Figures Who
Influenced India’s Politics” authored by author-
journalist Rasheed Kidwai compiles stories of 50
personalities who influenced India’s political
landscape.

$148. Ans.(c)

Sol. World Press Freedom Day is observed globally on
3rd May every year. It is also known as World Press
Day.

$149. Ans.(b)

Sol. Bihar’s Chief Minister Nitish Kumar has
inaugurated India’s first ethanol plant in Purnia
district, Bihar. The plant has been set up by Eastern
India Biofuels Private Limited at a cost of 105 crores.

$150. Ans.(a)

Sol. The Athletics Federation of India (AFI) named a
37-member Indian athletics team, to be led by Olympic
champion javelin thrower Neeraj Chopra, for the
upcoming Commonwealth Games in Birmingham
from July 28 to August 8.

$151. Ans.(b)

Sol. The correct answer is (b) "need not". This means
that bringing more food is not necessary since there
are enough supplies already. "Shall not" is too strong
and implies a prohibition, while "could not" means
that it's impossible to bring more food. "Ought to"
suggests that it would be a good idea to bring more
food, but it's not necessary.

$152. Ans.(a)

Sol. "must" suggests a strong obligation or necessity
to be hungry, "Shall" is too strong and implies a
prediction or command. "Might" implies uncertainty,
which doesn't fit the context of being hungry after a
long day.

$153. Ans.(c)

Sol. The correct answer is (c) "My father warned me
not to talk to my teacher like that." This is the best
expression in indirect speech, where the past tense is
used to report the statement made by the father in
direct speech. Option (a) uses present tense and is in
the present tense, while options (b) and (d) use the
present perfect tense which is not appropriate in this
context.

$154. Ans(b)

Sol. The correct answer is (b) "My grandfather told me
that life would teach me some hard lessons." This is
the best expression in indirect speech, where the past
tense is used to report the statement made by the
grandfather in direct speech, and "would" is used to
indicate future in the past. Option (a) uses present
tense, while option (d) uses "this" which is not
required. Option (c) uses present continuous tense
which is not appropriate in this context.z
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$155. Ans.(a)

Sol. The correct determiner to fill in the blank is (a)
"The". This indicates a specific set of funny schools
that the speaker is referring to. Option (b) "Those"
refers to a specific group of funny schools that have
already been mentioned or are known to the speaker
and the listener. Option (c) "Some" refers to an
unspecified number of funny schools, while option (d)
"Many" indicates a large number of funny schools, but
it doesn't fit the context of the sentence.

$156. Ans.(d)
Sol. They could help one another with the homework.

S$157. Ans.(b)

$158. Ans.(c)
Sol. He is known to me.

$159. Ans.(c)

Sol. The correct answer is (c) "unless". This means
that if you don't look after the plant, it will die. Option
(a) "if" suggests that the plant may or may not die
depending on whether or not you look after it. Option
(b) "until" implies that the plant will die at some point
in the future, regardless of whether or not you look
after it. Option (d) "otherwise" doesn't fit the context
of the sentence.

$160. Ans.(c)

Sol. The correct answer is (c) "because"”. This means
that the discussion cannot be postponed because the
issue of security is urgent. Option (a) "in case"
suggests that the discussion should be held justin case
the issue of security becomes urgent in the future,
which doesn't fit the context of the sentence. Option
(b) "although" implies that the discussion may be
postponed even though the issue of security is urgent.
Option (d) "therefore" suggests that the discussion
cannot be postponed as a result of the issue of security
being urgent, which is not the case.

S$161. Ans.(d)

Sol. Refer to the paragraphl, it can be easily inferred
that there are various speculations but there is no
clear evidence supporting the fact that Daw Aung San
Suu Kyi is intentionally not taking any bold move in
the case of Rohingya crisis. Hence (d) is the correct
option.

$162. Ans.(c)

Sol. Read the first sentence of the paragraph 4
carefully, it is clearly mentioned that the people of
Myanmar want better economy over long promised
democratic settlement as they put economic
development ahead of the country’s complex peace
process, a central plank of Aung Sang Su Kyi’s political
program. Hence (c) is the correct option.

$163. Ans.(d)

Sol. Read the passage, it is clear that due to absolute
power exercised by the army a situation has arised
which causes threat to the political and security
situations in Myanmar.

$164. Ans.(d)

Sol. Refer to the paragraph 4 of the passage, it is
evident that the deracination of large number of
Rohingyas has created fear in the minds of the
investors who were expecting to begin their business
in Myanmar.

$165. Ans.(a)

Sol. Read the passage carefully, we can conclude that
statement (a) is incorrect in the context of the passage,
as it is nowhere specifically mentioned that the
Tatmadaw has indirectly got all the rights to curb,
crush and demolish the Rohingyas.

$166. Ans.(b)

Sol. Lambasting means a harsh criticism. Hence it has
the same meaning as revile.

Profligate means unrestrained by convention or
morality.

Onerous means not easily borne; wearing.

Inure means cause to accept or become hardened to

$167. Ans.(d)

Sol Revealed means make (previously unknown or
secret information) known to others. Hence it has the
same meaning as divulge.

Intimation means a slight suggestion or vague
understanding.

Instigate means provoke.

Fatuous means devoid of intelligence.

$168. Ans.(d)

Sol. Rampage means move through a place in a
violent and uncontrollable manner. Hence it has the
same meaning as berserk.

Umbrage means a feeling of anger caused by being
offended.

Truculent means defiantly aggressive.

Toady means a person who tries to please someone to
gain an advantage.

Rescind means cancel officially.
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$169. Ans.(c)

Sol. Revelation means a surprising and previously
unknown fact that has been disclosed to others.
Hence it has the opposite meaning to camouflage.
Plethora means extreme excess.

Recalcitrant means stubbornly resistant to authority
or control.

Punctilious means marked by precise accordance
with details.

Upbraid means express criticism towards.

$170. Ans.(a)
Sol. Major is opposite to Minor

S$171. Ans.(d)

Sol. The sentence suggests that the speaker accepted
the new task without hesitation or reluctance.
"Willingly" is an adverb that describes the manner of
accepting something voluntarily or eagerly. Option (a)
"carefully” is an adverb that describes the manner of
doing something with caution or attention. Option (b)
"greatly” is an adverb that describes the degree of
something, not the manner. Option (c) "methodically”
is an adverb that describes the manner of doing
something in a systematic and organized way.

$172. Ans.(a)

Sol. The sentence suggests that the subject ruled for
many years with good judgment and intelligence.
"Wisely" is an adverb that describes the manner of
ruling with sound judgment and intelligence. Option
(b) "hardly" is an adverb that describes the manner of
doing something with difficulty or barely, not the
manner of ruling. Option (c) "interestedly” is an
adverb that describes the manner of being interested
in something, not the manner of ruling. Option (d)
"interestingly"” is an adverb that describes the manner
of something being interesting, not the manner of
ruling.

$173. Ans.(c)

Sol. Replace ‘easy’ with ‘easier’. ‘Comparative degree
of adjective +than’ is the correct structure of a
sentence to make a comparison.

S$174. Ans.(a)
Sol. ‘A little’ means insufficient.

$175. Ans.(b)

$176. Ans.(c)

Sol. The sentence suggests that the subject missed an
important guideline despite following all the
instructions closely. "Inspite of" is a preposition used
to introduce a phrase that expresses contrast or
opposition. Example: "Inspite of his injuries, he
continued to play the game." Option (a) "Instead of" is
a preposition used to introduce a phrase that
expresses substitution or replacement. Option (b)
"Although" is a conjunction used to introduce a phrase
that expresses concession or contrast. Option (d)
"Otherwise" is an adverb used to express a different
possibility or consequence.

$177. Ans.(a)
Sol. Sub+Modal+V1+0bj (active) changes into
“Obj+Modal+have+been+V3+by+Sub” (passive)

$178. Ans.(d)

$179. Ans.(d)

Sol. Requisite means made necessary by particular
circumstances or regulations.

Obligatory means required by a legal, moral, or other
rules; compulsory.

$180. Ans.(d)

Sol. Veteran: a person who has had long experience
in a particular field.

Amateur: a person who is not skillful and is just a
beginner.

Pliable: easily bent; flexible.

$181. Ans.(c)
Sol. Could is a modal verb after which only the first
form of the verb comes so have is the suitable option.

$182. Ans.(a)
Sol. They left for Delhi, India on January 18 of that
year.

$183. Ans.(c)
Sol. Q183. A judge never gropes for the conclusion.

$184. Ans.(b)

Sol. The sentence suggests that the subject's father has
put a lot of money into the company. "In" is a
preposition that indicates the inclusion or the
involvement of something within something else.
Therefore, the correct choice is "In". Option (a) "For"
is a preposition that indicates the intended recipient
or the purpose of something. Option (c) "Into" is a
preposition that indicates movement towards the
inside or the middle of something. Option (d) "On" isa
preposition that indicates a position or a location.

33 |

Teaching Jobs Exam | www.sscadda.com

| www.bankersadda.com | www.adda247.com


http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$185. Ans.(b)
Sol. Under the weather means sick.

$186. Ans.(c)

Sol. S consists of conjunction ‘and’, i.e. it is clearly
joining 2 sentences and given the other parts, it would
come at the end. Rwould appear first since it describes
the people of different cultures and Q would come
after R, and it will be followed by P. Thus the correct
sequence is RQPS.

$187. Ans.(c)

Sol. P would follow R, which would appear first. P
describes where they laughed and leaped. Q would
follow P since it completes the second part of the
sentence, i.e. what the author did while watching. S
would come after Q, since it describes the basket. Thus
the correct sequence is RPQS.

$188. Ans.(b)

Sol. S would appear first since it links the retirement
of author’s father and it would be followed by Q, since
it describes the location of Church in S. Thus the
correct sequence is SQPR.

$189. Ans.(d)

Sol The completion of product is denoted in R then
what the product do (provide satisfaction) explain in
S. Thus the correct sequence is RSPQ.

$190. Ans.(b)

Sol. S would appear first since it has the reference of
city, i.e., Kuala Lumpur. P would follow S and it will be
followed by Rand then Q since it shows the correct
sequence of how the city is firmly rooted in tradition.
Thus the correct sequence is SPRQ.

$191. Ans.(d)
Sol. As he had not paid his bill electricity was cut off.

$192. Ans.(b)

Sol. It shows personification.

Personification is a figure of speech in which an idea
or thing is given human attributes and/or feelings or
is spoken of as if it were human.

$193. Ans.(c)
Sol. The study of population is known as demography.

$194. Ans.(c)
Sol. It means it is better to be satisfied with what you
have than to try to get what is not yours.

$195. Ans.(d)
Sol. Dang is not associated with the sound of a bell.

$196. Ans.(b)
Sol. Are you sorry for what you have done?

$197. Ans.(d)
Sol. Make thin is the synonym of Attenuate.

$198. Ans.(d)

Sol. The servant ran away and added to their troubles.
Compound sentence:

A compound sentence is a sentence that has at least
two independent clauses joined by a comma,
semicolon or conjunction

$199. Ans.(c)
Sol. Why are you always so suspicious of me?

$200. Ans.(a)
Sol. The headmaster wants to speak to you.
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